University College of the Cayman Islands

FIN301 Financial Management

Tutorial #2 – Financial Statements and Cash Flows – Chapter 2

SOLUTIONS
1. 2-4
 The emphasis in accounting is on the determination of accounting income, or net income, while the emphasis in finance is on net cash flow.  Net cash flow is the actual net cash that a firm generates during some specified period.  The value of an asset (or firm) is determined by the cash flows generated.  Cash is necessary to purchase assets to continue operations and to pay dividends.  Thus, financial managers should strive to maximize cash flows available to investors over the long run.

Although companies with relatively high accounting profits generally have a relatively high cash flow, the relationship is not precise.  A business’s net cash flow generally differs from net income because some of the expenses and revenues listed on the income statement are not paid out or received in cash during the year.  The relationship between net cash flow and net income can be expressed as:

Net cash flow = Net income + Non-cash charges - Non-cash revenues.


The primary examples of non-cash charges are depreciation and amorti-zation.  These items reduce net income but are not paid out in cash, so we add them back to net income when calculating net cash flow.  Likewise, some revenues may not be collected in cash during the year, and these items must be subtracted from net income when calculating net cash flow.  Typically, depreciation and amortization represent the largest non-cash items, and in many cases the other non-cash items roughly net to zero.  For this reason, many analysts assume that net cash flow equals net income plus depreciation and amortization.

2. 2-12
Because interest paid is tax deductible but dividend payments are not, the after-tax cost of debt is lower than the after-tax cost of equity.  This encourages the use of debt rather than equity.  This point is discussed in detail in the chapters titled, “The Cost of Capital” and “Capital Structure and Leverage.”

3. 2-1 
NI = $3,000,000; EBIT = $6,000,000; T = 40%; Interest = ?

Need to set up an income statement and work from the bottom up.
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Interest = EBIT - EBT = $6,000,000 - $5,000,000 = $1,000,000.

4. 2-2  NI = $3,100,000; DEP = $500,000; AMORT = 0; NCF = ?

NCF = NI + DEP and AMORT = $3,100,000 + $500,000 = $3,600,000.

5. 2-3
 EBIT = $170,000; Operating capital = $800,000; kA-T = 11.625%; T = 40%; 
EVA = ? 

EVA = EBIT(1 - T) - AT dollar cost of capital

    = $170,000(1 - 0.4) – ($800,000 ( 0.11625)

    = $102,000 - $93,000

    = $9,000.

6. 2-4  NI = $50,000,000; R/EY/E = $810,000,000; R/EB/Y = $780,000,000; Dividends = ?


R/EB/Y
+
NI
–
Div
=
R/EY/E
$780,000,000
+
$50,000,000
–
Div
=
$810,000,000




$830,000,000
–
Div
=
$810,000,000





$20,000,000
=
Div.

7. 2-5 EBITDA = $7,500,000; NI = $1,800,000; Int = $2,000,000; T = 40%; DA = ?

EBITDA
$7,500,000

DA
 2,500,000
EBITDA – DA = EBIT; DA = EBITDA – EBIT

EBIT
$5,000,000
EBIT = EBT + Int = $3,000,000 + $2,000,000
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8. 2-8
a.NOPAT = EBIT(1 – T)



      = $4,000,000,000(0.6)



      = $2,400,000,000.


b.
NCF = NI + DEP and AMORT



    = $1,500,000,000 + $3,000,000,000



    = $4,500,000,000.


c.
OCF = NOPAT + DEP and AMORT



    = $2,400,000,000 + $3,000,000,000



    = $5,400,000,000.


d.
FCF = NOPAT – Net Investment in Operating Capital



    = $2,400,000,000 - $1,300,000,000



    = $1,100,000,000.


e.
EVA = NOPAT – 
[image: image1.wmf]ú

û

ù

ê

ë

é

÷

ø

ö

ç

è

æ

÷

ø

ö

ç

è

æ

Capital

 

of

Cost

 

T

-

A

Capital

 

Operating

Supplied

-

Investor

 

Total

 




    = $2,400,000,000 – [($20,000,000,000)(0.10)]



    = $400,000,000.

9. 2-9
         MVA = (P0 ( Number of common shares) ( BV of equity

$130,000,000 = $60X ( $500,000,000

$630,000,000 = $60X

           X = 10,500,000 common shares.

10.  2-17
a.
NOPAT
= EBIT(1 - T)

= $150,000,000(0.6)

= $90,000,000.


b.
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= $360,000,000 - ($90,000,000 + $60,000,000)







= $210,000,000.
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ADVANCE \d3= $372,000,000 - $180,000,000 = $192,000,000.

c.
Operating capital01
= 
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= $250,000,000 + $210,000,000

= $460,000,000.

Operating capital02
= $300,000,000 + $192,000,000

= $492,000,000.

d.
FCF = NOPAT - Net investment in operating capital



    = $90,000,000 - ($492,000,000 - $460,000,000)



    = $58,000,000.

e.
The large increase in dividends for 2002 can most likely be attributed to a large increase in free cash flow from 2001 to 2002, since FCF represents the amount of cash available to be paid out to stockholders after the company has made all investments in fixed assets, new products, and operating working capital necessary to sustain the business.
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